O0D000O0000 oogo (3)

goo o

b 150100210

3 Uuobobooobooon

gooooo

gooooo = 0go0oggoog
gooooooon

3.1 000000 (mathematical induction)
00o0o0oboobooooDbO PODOOOODOOODOO:
VneN.P(n)0OO00
e P(0)0DD
e JO00UDOO mOUOOOPmM)ODOUOOUD Pm+1) 00000000000

O0oo0oooogooooonod
(P(0) & (Vm € N.P(m) = P(m +1))) = Vn € N.P(n)

P(m) 00 0O00OOAO (induction hypothesis) 0 0 0 0OVm € N.P(m)= P(m + 1) O induction step
good

goooood
(Vn € N.(Vm < n.Q(m)) = Q(n)) = Vn € N.Q(n)

000000 (complete induction, course-of-values induction 000000 )00000P(n) 00O
0QO0& -&Q(r)000000000000D0O0DNO0ONDOO

3.2 O00OOOOO
0000000 «0000 Ple)ODOOOOOOOOOO:
Va € Aexp.P(a) OO0 OO

e JO0meNumOOOO P(m)OODO



e 000 XeLocOOOO P(X)0OODO

000000 ag,a; D0000P(ag), Ple;) 00000000000000P(ap+ay)
0oo

e 100000 ag,a; 00000P(ag),Ple;) 00000000000000P(ag—ay)
0oo

000000 ag,a; 00000P(ag), Ple;) 00000000000000P(agxar)
000

goooobogooboog

goooooon
Vm € Num.P(m)) & (VX € Loc.P(X))&

( )

(Vap, a1 € Aexp.P(ap) & P(a1) = P(ap + a1))&
(Vao, al € Aexp.P(ao) & P(al) = P(ao — al))
(Vao, al € Aexp.P(ao) & P(al) = P(ao X al))
=

Va € Aexp.P(a)

googn
00 3.1 (0000000000 (deterministic)) 000000 o, 00 0,00 m,m 00000

(a,0) = m& (a,0) - m' =m=m'

Ob: «O0O0O0O0ODOOOOOOO

3.3 Uugoooooo

0000000000000 000ooooO0O0o0oDoOOD ADODODODOODoOOOO P(D)OO
obooooooogo:

vD.P(D) 00000
e DODODODOOO P OOOO P(P)00D00D0O00000OOOOP(D)OOO
00000000000

Oo0o0o0O0O0O0O0O0O0O0O0O0ADDOODOOODOOOOOOOOODODOODODAOOOOOOOO
gbooooboboooobooboobooboobobooboobobooboobobooobo
gbooboooobooboooooooooooooooooooooooooooog

00 3.2 (00000000000 (deterministic)) c 000000 000000000000
09,00 000000 (¢,0) = 0000 (¢c,0) >0y 00000p=0, 0000



O0: (coy—ooODOOOODODOOOOOO

gb310b0b0o00boboobobooboboobobooboboobooobooboooobon
gbooooboobobobooooooboboboooooooboboboooboob 320000000
000000000 (Doo)0oooooooUUUoO(@ooon)

3.4 UOOoooOO

000000000000000000000000000000 (well-founded induction) OO
ubboobooboboobbooboobobooboo
00 A0O0OD <O0000000

e =a; < <ap Xap

0000000000000 0 (well-founded relation) 0 0 00
0000 <00 b A0dddgoooooo:

a=b<= a=bora<b

00 3.1 <0 A0000O0OO0 (CAxA)DODODO<OOODODODODODODOODDAODOOOOOO
00000 @ 0000 (minimal element) JOO00000000000OmO (DO00)00 QOO
ogooooodgo

meQQ&Vb<m.begQ

googooo

0O00000obOo00d0 <0 ADDOOOOODODPO AODODOOOOODOOO

(Va € A.(Vb < a.P(b)) = P(a)) <= Va € A.P(a)

O0: 000000 0OO0OO0O0OO0O(OOD0O)0D0 <x000000000:n<m < m=n+100
gbooboooooooooooooogoooogoDg

0: complete induction 00000 (0DU0)00 0000000000 <OO0O0OO0OD0OOO
00000000 complete induction O 0O OO

0: 0000000000 AexpdO(000)00 <00000000000000 (ag<a <
(3ay.a =ap+a1)or (3ay.a=ay+ag)or---) 00000000000000000000O0000
oooooo

O0: 000000000 000000 D <D:

DI

D <D = — D

def

<=<7(00000)000000000000D0D000D0DO0000O00DO0O00O



ubooooobogono boobobooboboobobbobooboboboboboobobod
ogoogn

00 3.3 IMPOOODO Euclid O

Euclid = while -(M = N) do
if M <N
then N :=N - M
else M .=M—- N

goobooboob obOoooo
o(M)>1&o(N) > 1= 30'.(Buclid, s) — o’

ogoogooo

00 3.400000 o, 00000

—({while true do skip,o) — o)

3.5 OUOOoooboon
O: 000000

1 ifa=n
1 ifa=X
length(a) = ¢ 1+ length(ag) + length(a1) if a =ap+ a1

1+ length(ag) + length(a;) if a =ag — a1
1+ length(ag) + length(a;) if a =ag X a1

U: dobooooooobooobobooonooog

locr(¢) = ...

4 0O000000O0OO0O0OOOOO0O0OOO0ObObOo0oOa

BNFOOOOOOOOOoOoooOoobooboooobobooooooboooboooobooo
gooobooooobobtooooooooobbooooobD bbb oobDobboogo
0000000000 (least fized point) D00 0000

00 41 000000000 (X/y)(XO0000000 y000)0000(X000000000
0oooo0o0o0o0o0o000)

00 4.1 ROOODOOOODOOOOODOOOIp0OO00O0ODDOOOODOOOODOOOODO
ooo

def

IR {2|3ID.DIFg 2}
(PFtre0 DO ROOOO ¢ 00000000000000000OO0)

4



00 42 ROODODODOOOOOOODODODOODDOOD QO RUDDODODOODOO(R-closed) 000
00o00o000oo0oooo0D (X/y) OoOoOo

XCQ=yeQ
000000000 o0O00n

00 4.1 Ip0 ROODOOOOODOODOODOODOOOOOOORODOODOODOOO
gboobooboobooboobooob

1. Ip 0 ROOOODOOOODOO

2. Q0 RO0O0OOOOOOOOODO IrCO

gboooboboobooboboobooboooboo
gbooboboobooboboboobooboboboooobobDooboobobooDbg

000000000000000
00 43 00000000000 ROOOOOOOOO ROOODOOOOOOOOO
R(B) = {y | 3X C B.(X/y) € R}
00 42 00 BO ROOODOOOOOODOOOORMB)CBOOOOODOOOOOOOO
]/%DDDDDDDDD(monotoniC)DDDD
AC B= R(A) C R(B)

0000000 ROOOOOODO0O000OO A; 00000

AO = EO(@) == @

Ay = RY(0) = R(D)

Ay = R2(0) = R(R(0))
A, = R™(0)

A, 00000O0DOODOOOOOOO0O0O000000A,1 0 A, 000000O0DCODODOOODOOO
00000000O0ROOOOOOO

AgC A CAC---CAC---
D000A={,.yA4, 0000000

oo 4.3

1. AD ROODODOOOOOOO



2. R(A)=A
3. A0 ROOODODOODODOOODOOODOODOO

20000000A4A0O EDDDD(ﬁxedpoint)DDDDDDDl,BDDDDDDDDA:IRDD
Od000dddodooooodooooooooooooooIgponoon ﬁx(ﬁ)DDDDDDD
goopooogooo
fir(R) = | R(0)

neN
o0oo0(A—~A00D0OO00O0O)000O0O0O0OOO0DOOOOOOOODOO



